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Problem 1

Consider the following model. The population is perceived as a single consumer that lives for two periods, working h hours, saving an amount s, and consuming an amount 
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 in period 1. The consumer faces a fixed wage-rate, w, reflecting the marginal product of his labour. There is a fixed rate of return to savings (interest rate), i. In the second period the agent consumes an amount 
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 which equals his accumulated wealth including interest. 

Assume that the government imposes a comprehensive income tax (i.e.on all income) at a rate t and a uniform consumption tax, say a VAT, at a rate
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Explain and compare the distortions caused by the respective taxes. 

Problem 2

Explain briefly why the rates of depreciation allowance are important for the behaviour of firms. 

Problem 3

The simplest form of income tax would be a linear tax schedule (with a single marginal tax rate). In practice the income tax is often piece-wise linear with two or three marginal tax rates applied to different income brackets. Discuss conceivable arguments for choosing the latter kind of schedule rather than the simple linear (affine) one. Assume that the same amount of tax revenue is to be collected in either case. 

This problem is more demanding than the previous ones and tests your ability to do independent analysis. You should draw on your general insight into the theoretical and empirical circumstances that are important for the choice of tax level and marginal tax rate at different income levels. 
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